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ẋj = ∂H/∂yj, ẏj = −∂H/∂xj, j = 1, 2, ˙ = d/dt, (1)
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H = H0 + μR, H0 = 1

2(y
2
1 + y2

2) + x2y1 − x1y2 − r−1,

R = r−1 + x1 − r−1
2 , r =

√
x2

1 + x2
2, r2 =

√
(x1 − 1)2 + x2

2,
(2)
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b�5)�`� �� �
��� ��!�� �
5��+ ��������� c �)0 μ = 5 · 10−5�

k x1(0) y2(0) x1(T/2) y2(T/2) T/2π C

� 0.97468 0.97468 0.97468 0.97468 0.47395 3.005756
� 0.97183 0.99406 0.97858 0.95443 0.48178 3.005332

	 0.96536 1.03529 0.99196 0.88729 0.65222 3.001532

 0.95526 1.04736 0.99643 0.82882 0.89820 2.999795

� 0.80387 1.20106 0.99992 −0.12594 1.33779 2.976767
p 0.00000 ±∞ 0.99998 −1.57440 0.99937 1.397662

k 0.86075 −1.11730 0.99795 −0.97598 0.94935 −0.847669
/ 0.97241 −1.01493 0.97241 −1.01493 0.97959 −0.943718

k T̃r T̃rv ã(0) ẽ(0)

� 12.045 1.956 0.90750 0.92598

� 11.833 2.000 0.93478 0.96037
	 9.435 2.000 1.00011 1.03475


 8.259 −2.000 1.00335 1.04793
� 12.568 −7.838 0.95662 1.15968

p 18.409 −16.474 0.71309 ±2
k 3.540 −2.000 0.93012 −1.07458

/ 2.000 1.967 0.97408 −1.00172

k ã(T/2) ẽ(T/2) w1 Σ

� 0.90750 0.92598 0.00197 −0.02899
� 0.88278 0.89148 0.00233 −0.02857

	 0.81375 0.78099 0.00622 −0.02477

 0.75746 0.68452 0.01400 −0.02303

� 0.50396 −0.01586 0.62223 0
p 2.08847 −2.47881 2.51256 1.57910

k 0.95100 −0.95063 0.02443 3.82444
/ 0.97408 −1.00172 0.00181 3.92048



�


b�5)�`� �� �
��� ��!�� �
5��+ ��������� i �)0 μ = 5 · 10−5�

k x1(0) y2(0) x1(T/2) y2(T/2) T/2π C

� −0.48073 −1.44228 0.48074 1.44226 0.50002 3.466832

� −0.60949 −1.30108 0.60948 1.30115 0.99790 3.174618
	 0.00000 ∓∞ 0.00000 ±∞ 1.00003 1.587531


 −0.63002 1.25972 0.63000 −1.25979 0.99995 0.000314
� −0.99943 0.62407 0.99885 −0.65133 0.99134 0.364346

p −0.99834 −0.63774 0.99713 0.59100 1.01369 2.870078
k −0.64537 −1.23018 0.64538 1.23024 1.00352 3.173518
/ −0.71171 −1.18503 0.71149 1.18556 1.50000 3.092666

f −1.06237 −0.75644 0.46400 1.73202 1.99996 2.917733
�. −1.09236 −0.72146 0.43400 1.81599 1.99999 2.886698

�� −1.42891 −0.29168 0.09423 4.46283 2.00164 2.148318
�� −1.42899 −0.29044 0.09366 4.47728 2.00189 2.145475

�	 −1.42805 −0.28931 0.09341 4.48379 2.00252 2.143268
�
 −1.42229 −0.29159 0.09598 4.41975 2.00427 2.150763
�� −0.99933 −0.64328 0.56628 1.55583 2.28982 2.873333

�p −0.99933 −0.64328 0.56628 1.55583 2.28982 2.873333
�k −0.99925 −0.64318 0.56625 1.55588 2.29034 2.873317

�/ −0.99925 −0.64318 0.56625 1.55588 2.29034 2.873317
�f −0.99990 0.64239 0.18237 −3.08816 1.87457 0.302985

�. −0.99990 0.64239 0.18237 −3.08816 1.87457 0.302985
�� −1.05353 0.76219 0.46145 −1.73754 1.99465 −0.288436

�� −1.05338 0.76256 0.46206 −1.73594 1.99486 −0.289268
�	 −0.76600 1.14029 0.76000 −1.14935 1.99974 −0.436185
�
 −0.50888 1.61364 0.99849 −0.84264 1.98380 −0.315734

�� 0.00000 ±∞ 0.99998 −1.39846 1.99838 1.471325
�p −0.52593 −1.57756 0.99478 0.78092 2.03161 2.973453

�k −0.75006 −1.16534 0.77892 1.12248 2.01426 3.056636
�/ −0.79820 −1.11985 0.79955 1.11841 2.50000 3.039366

�f −0.59600 −1.46433 0.59616 1.46411 2.99989 2.956936
	. −0.58000 −1.49560 0.58017 1.49536 2.99995 2.946355

	� −0.30489 −2.31205 0.30808 2.29873 3.00247 2.623814
	� −0.30294 −2.32106 0.30673 2.30514 3.00293 2.620745
		 −0.30071 −2.33134 0.30596 2.30910 3.00410 2.617764
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b�5)�`� �� ^�
���)3����a�

k x1(0) y2(0) x1(T/2) y2(T/2) T/2π C

	
 −0.31080 −2.28301 0.32504 2.22686 3.01135 2.641748
	� −0.52962 −1.57027 0.79202 1.21507 3.33015 2.973836

	p −0.52960 −1.57030 0.79201 1.21509 3.33029 2.973832
	k 0.00000 ∓∞ 0.00108 43.00108 3.01165 1.486286

	/ −0.00095 45.91354 0.00000 ±∞ 2.98997 1.401636
	f −0.52646 1.57740 0.49614 −1.65500 2.86129 −0.350188


. −0.52646 1.57740 0.49614 −1.65500 2.86129 −0.350191

� −0.52657 1.57717 0.49627 −1.65470 2.86140 −0.350399

� −0.52657 1.57717 0.49627 −1.65470 2.86141 −0.350402


	 −0.64399 1.37476 0.64206 −1.37852 2.99262 −0.554105


 −0.82500 1.10105 0.82490 −1.10127 2.99925 −0.604748


� −0.99741 0.88414 0.99711 −0.90040 2.97957 −0.540122

p −1.00040 −0.64746 0.99997 −1.02569 3.56999 2.875531


k −1.43203 −0.28732 0.99998 −1.62602 3.11298 2.137128

/ −0.99361 −0.89392 0.99292 0.83852 3.04430 2.990284

f −0.84064 −1.08160 0.84151 1.08124 3.03460 3.027825

�. −1.06127 −0.46373 0.99998 −1.44208 3.50000 2.653890
�� −1.26446 −0.64785 0.46053 1.78507 4.00291 2.800494

�� −1.27102 −0.64068 0.45460 1.80154 4.00475 2.791847
�	 −1.27119 −0.64005 0.45481 1.80137 4.00581 2.791055

�
 −1.23337 −0.67064 0.49956 1.69406 4.02254 2.826244
�� −0.98999 −0.89923 0.88252 1.11407 4.30203 2.992165

�p −0.99023 −0.89891 0.88173 1.11489 4.30485 2.992047
�k −1.30329 −0.51431 0.30435 2.31754 4.39064 2.610804
�/ −1.30329 −0.51431 0.30435 2.31754 4.39064 2.610804

�f −0.29721 −2.34854 0.99998 −1.46122 4.21021 2.609386
p. −0.29721 −2.34854 0.99998 −1.46122 4.21021 2.609386

p� −0.30038 −2.33383 0.99998 −1.44785 4.20909 2.613290
p� −0.30038 −2.33383 0.99998 −1.44785 4.20909 2.613291

p	 −0.85034 −1.09266 0.87852 1.05906 4.06750 3.016430
p
 −0.87190 −1.07261 0.87686 1.06808 4.50000 3.013843

p� −0.56733 −1.54756 0.57118 1.54151 5.00317 2.886279
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b�5)�`� �� ^�
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T̃r T̃rv ã(0) ẽ(0) k

−2.00000 −2.00000 −0.48075 1.00004 �
1.99934 1.99983 −0.62951 1.03180 �

	
2.00000 2.00000 −0.62991 −0.99983 

3.64925 −2.00000 −0.62048 −0.38926 �
4.96189 −2.00000 −0.62633 0.40606 p
2.00000 1.99949 −0.63068 0.97672 k

−2.00001 −2.00000 −0.71136 0.99951 /
1.98122 2.00000 −0.76315 0.60792 f
1.97982 2.00000 −0.76315 0.56861 �.

−2.00000 1.90867 −0.76069 0.12157 ��
−2.00000 1.83769 −0.76032 0.12055 ��

2.00000 1.49313 −0.75941 0.11953 �	
7.39354 −2.00000 −0.75691 0.12093 �


16.04900 −2.00000 −0.62992 0.41356 ��
16.05223 2.00000 −0.62992 0.41356 �p
2.00000 10.68062 −0.62980 0.41339 �k

−2.00000 10.68038 −0.62980 0.41339 �/
15.98052 2.00000 −0.62992 −0.41264 �f
15.98021 −2.00000 −0.62992 −0.41264 �.
−2.40222 −2.00000 −0.75906 −0.61207 ��
−2.00000 −1.36391 −0.75923 −0.61257 ��

2.00000 1.99999 −0.76299 −0.99606 �	
3.59384 −2.00000 −0.75403 −1.32512 �


20.00000 −20.00000 0.00000 0.00000 ��
7.12611 −2.00000 −0.76105 1.30894 �p
2.00000 1.99160 −0.76431 1.01864 �k

−2.00011 −1.99996 −0.79903 1.00103 �/
1.92244 2.00000 −0.82553 1.27804 �f
1.91871 2.00000 −0.82553 1.29742 	.

−2.00000 1.98652 −0.82380 1.62990 	�
−2.00000 1.97192 −0.82352 1.63214 	�

2.00000 1.90420 −0.82266 1.63447 		
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T̃r T̃rv ã(0) ẽ(0) k

10.23196 −2.00000 −0.81799 1.62004 	

13.76335 −2.00000 −0.76309 1.30596 	�
13.82770 2.00000 −0.76309 1.30598 	p
0.00000 0.00000 0.00000 0.00000 	k
0.00000 0.00000 −0.34539 −2.00275 	/
9.42145 2.00000 −0.76299 −1.31000 	f
9.40267 −2.00000 −0.76299 −1.31000 
.
2.00000 −9.25102 −0.76305 −1.30991 
�

−2.00000 −9.26802 −0.76305 −1.30990 
�
−1.38653 −2.00000 −0.82267 −1.21719 
	

2.00000 1.99991 −0.82518 −1.00021 


3.46996 −2.00000 −0.81737 −0.77972 
�

−31.11119 27.47863 −0.63292 0.41939 
p
−18.13581 −15.50277 −0.76100 0.11822 
k

8.61657 −2.00000 −0.82390 0.79402 
/
2.00000 1.95011 −0.82697 0.98347 
f

−20.00000 20.00000 −0.59899 0.22823 �.
−2.00000 1.99600 −0.86060 0.53073 ��
−2.00000 1.97823 −0.85981 0.52174 ��

2.00000 1.95563 −0.85936 0.52078 �	
11.70969 −2.00000 −0.85339 0.55474 �

13.27956 −2.00000 −0.82538 0.80056 ��
13.82324 2.00000 −0.82531 0.80018 �p
2.00000 24.01268 −0.78737 0.34476 �k

−2.00000 24.01268 −0.78737 0.34476 �/
2.00000 −14.28027 −0.82423 1.63940 �f

−2.00000 −14.28027 −0.82423 1.63940 p.
−2.00000 −14.30758 −0.82569 1.63620 p�

2.00000 −14.30758 −0.82569 1.63620 p�
2.00000 1.80843 −0.86354 1.01528 p	

−2.00197 −1.99915 −0.87466 1.00316 p

−2.00000 1.99806 −0.88478 1.35879 p�
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ã(T/2) ẽ(T/2) w1 Σ k

0.48076 1.00005 0.00010 −3.466 �
0.62957 1.03190 0.00013 −3.174 �

−1.587 	
0.62993 −0.99990 0.00014 0.000 

0.63369 −0.42376 0.04350 0.364 �
0.60370 0.34830 0.01743 2.869 p
0.63076 0.97683 0.00014 3.172 k
0.71155 1.00008 0.00017 3.253 /
0.76319 1.39202 0.00009 3.428 f
0.76319 1.43133 0.00009 3.459 �.
0.76500 1.87683 0.00006 4.198 ��
0.76528 1.87761 0.00006 4.200 ��
0.76598 1.87805 0.00006 4.203 �	
0.76788 1.87501 0.00006 4.210 �

0.90001 1.37081 0.00012 4.933 ��
0.90001 1.37081 0.00012 4.933 �p
0.90000 1.37083 0.00012 4.933 �k
0.90000 1.37083 0.00012 4.933 �/
0.69964 −1.73933 0.00006 7.503 �f
0.69964 −1.73933 0.00006 7.503 �.
0.76046 −1.39320 0.00009 8.094 ��
0.76056 −1.39247 0.00009 8.095 ��
0.76307 −1.00402 0.00021 8.242 �	
0.77343 −0.70901 0.03302 8.363 �


22.59711 −1.95575 2.11193 10.15 ��
0.71397 0.60669 0.00958 11.65 �p
0.76474 0.98146 0.00023 11.73 �k
0.79966 1.00015 0.00025 11.75 �/
0.82572 1.27801 0.00012 11.83 �f
0.82572 1.29738 0.00012 11.84 	.
0.82829 1.62805 0.00007 12.16 	�
0.82883 1.62993 0.00007 12.17 	�
0.83008 1.63142 0.00007 12.17 		
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ã(T/2) ẽ(T/2) w1 Σ k

0.83750 1.61190 0.00007 12.19 	

0.95355 1.16940 0.00024 12.53 	�
0.95355 1.16941 0.00024 12.53 	p
0.62442 2.00173 0.00005 14.01 	k
0.00000 0.00000 0.00005 14.10 	/
0.77402 −1.35901 0.00010 15.85 	f
0.77402 −1.35901 0.00010 15.85 
.
0.77406 −1.35887 0.00010 15.85 
�
0.77406 −1.35887 0.00010 15.85 
�
0.82336 −1.22018 0.00014 16.05 
	
0.82531 −1.00050 0.00029 16.10 


0.83679 −0.80841 0.01730 16.17 
�
1.05491 −1.05207 1.98951 19.58 
p
1.55273 −2.64402 3.01658 20.32 
k
0.76271 0.69817 0.00706 21.18 
/
0.82813 0.98385 0.00032 21.21 
f

12.55138 −2.07967 2.80886 21.59 �.
0.86489 1.46753 0.00009 21.73 ��
0.86674 1.47550 0.00009 21.74 ��
0.86778 1.47589 0.00009 21.74 �	
0.88220 1.43373 0.00010 21.78 �

0.97558 1.09539 0.00043 21.94 ��
0.97539 1.09602 0.00042 21.94 �p
0.83328 1.63475 0.00007 22.33 �k
0.83328 1.63475 0.00007 22.33 �/
7.39506 −2.13522 2.83352 22.33 �f
7.39507 −2.13522 2.83352 22.33 p.

10.38032 −2.09633 2.80266 22.33 p�
10.38045 −2.09633 2.80266 22.33 p�
0.86589 0.98541 0.00041 22.73 p	
0.87719 1.00037 0.00041 22.74 p

0.88876 1.35733 0.00012 22.86 p�
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�� w1, y2 ��� μ = 5 · 10−5�
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��

���� ��� ��	�
��	����
� ��
������ i � 
��	������� w1, y2 �	� μ = 5 · 10−5�

���� ��� ������
���� �� Σ �� ��
������ i �	� μ = 0 � μ = 5 · 10−5�
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���
 ẽ �� Σ �� ���	�� ��������������

��
����	� i ��� μ = 0 � μ = 5 · 10−5�

���� ��� ���
���	����� ������ T̃ ��� ������� �� Σ
�� ��
����	� i ��� μ = 0 � μ = 5 · 10−5�



��

���� ��� Ǳ�	�
�� ���
 T̃r 
�
 ���
��� 	� Σ
�� ��������� i ��� μ = 0�

���� ��� Ǳ�	�
�� ���
 T̃r 
�
 ���
��� 	� Σ
�� ��������� i ��� μ = 5 · 10−5�



��

���� ��� ��	
���
���� �
�� T̃rv ��� ������� �
 Σ
�� ������
�� i �	� μ = 0�

���� ��� ��	
���
���� �
�� T̃rv ��� ������� �
 Σ
�� ������
�� i �	� μ = 5 · 10−5�


	Untitled.pdf
	prep2008_22

